

-1

$$(a) \quad f(x) = -\frac{\pi}{\mathfrak{F}} + \frac{h}{\mathfrak{Y}} + \sum_{k=1}^{\infty} \left\{ \frac{1}{\pi k^{\mathfrak{Y}}} [1 + (-1)^{k+1}] \cos kx \right. \\ \left. + \frac{1}{\pi k} [h + (h + \pi)(-1)^{k+1}] \sin kx \right\}$$

$$(c) \quad f(x) = \sin x + \sum_{k=1}^{\infty} \frac{\mathfrak{Y}(-1)^{k+1}}{k} \sin kx$$

$$(e) \quad f(x) = \frac{\sinh \pi}{\pi} \left[1 + \sum_{k=1}^{\infty} \frac{\mathfrak{Y}(-1)^k}{1 + k^{\mathfrak{Y}}} (\cos kx - k \sin kx) \right]$$

-2

$$(a) \quad f(x) = \sum_{k=1}^{\infty} \frac{\mathfrak{Y}}{k} \sin kx$$

$$(b) \quad f(x) = \sum_{k=1}^{\infty} \left(\frac{\mathfrak{Y}}{k\pi} \right) \left[1 - \mathfrak{Y}(-1)^k + \cos \frac{k\pi}{\mathfrak{Y}} \right] \sin kx$$

$$(c) \quad f(x) = \sum_{k=1}^{\infty} \left[\mathfrak{Y}(-1)^{k+1} \frac{\pi}{k} + \frac{\mathfrak{F}}{\pi k^{\mathfrak{Y}}} ((-1)^k - 1) \right] \sin kx$$

$$(d) \quad f(x) = \sum_{k=\mathfrak{Y}}^{\infty} \frac{\mathfrak{Y}k}{\pi} \left[\frac{1 + (-1)^k}{k^{\mathfrak{Y}} - 1} \right] \sin kx$$

-3

$$(a) \quad f(x) = \frac{\mathfrak{Y}}{\mathfrak{Y}}\pi + \sum_{k=1}^{\infty} \frac{\mathfrak{Y}}{\pi k^{\mathfrak{Y}}} [(-1)^k - 1] \cos kx$$

$$(b) \quad f(x) = \frac{\pi}{\mathfrak{Y}} + \sum_{k=1}^{\infty} \frac{\mathfrak{Y}}{\pi k^{\mathfrak{Y}}} [(-1)^k - 1] \cos kx$$

$$(c) \quad f(x) = \frac{\pi^{\mathfrak{Y}}}{\mathfrak{Y}} + \sum_{k=1}^{\infty} \frac{\mathfrak{F}(-1)^k}{k^{\mathfrak{Y}}} \cos kx$$

$$(d) \quad f(x) = \frac{\mathfrak{Y}}{\mathfrak{Y}\pi} + \sum_{k=1, \mathfrak{Y}, \mathfrak{F}, \dots}^{\infty} \frac{\mathfrak{F}}{\pi} \left[\frac{1 + (-1)^k}{\mathfrak{A} - k^{\mathfrak{Y}}} \right] \cos kx \quad k \neq \mathfrak{Y}$$

-ϣ

$$\begin{aligned} (b) \quad f(x) &= \sum_{k=\mathfrak{I}}^{\infty} \left(\frac{\mathfrak{Y}}{k\pi} \right) \sin \frac{k\pi}{\mathfrak{Y}} \cos \left(\frac{k\pi x}{\mathfrak{Z}} \right) \\ (c) \quad f(x) &= \frac{\mathfrak{Y}}{\pi} + \sum_{k=\mathfrak{Y}}^{\infty} \left(\frac{\mathfrak{Y}}{k\pi} \right) \left[\frac{\mathfrak{I} + (-\mathfrak{I})^k}{\mathfrak{I} - k^{\mathfrak{Y}}} \right] \cos \left(\frac{k\pi x}{l} \right) \\ (f) \quad f(x) &= \sum_{k=\mathfrak{I}}^{\infty} \frac{k\pi}{\mathfrak{I} + k^{\mathfrak{Y}} \pi^{\mathfrak{Y}}} (-\mathfrak{I})^{k+\mathfrak{I}} (e - e^{-\mathfrak{I}}) \sin(k\pi x) \end{aligned}$$

-Ϸ

$$\begin{aligned} (a) \quad f(x) &= \sum_{k=-\infty}^{\infty} \frac{\mathfrak{I}}{\pi} \left(\frac{\mathfrak{Y} + ik}{\mathfrak{F} + k^{\mathfrak{Y}}} \right) (-\mathfrak{I})^k \sinh \mathfrak{Y} \pi e^{ikx} \\ (b) \quad f(x) &= \sum_{k=-\infty}^{\infty} \frac{(-\mathfrak{I})^k}{\pi (\mathfrak{I} + k^{\mathfrak{Y}})} (-\mathfrak{I})^k \sinh \pi e^{ikx} \\ (d) \quad f(x) &= \sum_{k=-\infty}^{\infty} (-\mathfrak{I})^k \left(\frac{i}{k\pi} \right) e^{ik\pi x} \end{aligned}$$

-Ϡ

$$(a) \quad f(x) = \frac{\pi}{\mathfrak{A}} \pi + \sum_{k=\mathfrak{I}}^{\infty} \left[\frac{\mathfrak{I}}{\mathfrak{Y} \pi k^{\mathfrak{Y}}} \{ (-\mathfrak{I})^k - \mathfrak{I} \} \cos kx + \frac{(-\mathfrak{I})^{k+\mathfrak{I}}}{\mathfrak{Y} k} \sin kx \right]$$

-V

$$(a) \quad f(x) = \frac{l^{\mathfrak{Y}}}{\mathfrak{Y}} + \sum_{k=\mathfrak{I}}^{\infty} \mathfrak{F} (-\mathfrak{I})^k \left(\frac{\mathfrak{I}}{k\pi} \right) \cos \left(\frac{k\pi x}{l} \right)$$

-Λ

$$\begin{aligned} (a) \quad \sin^{\mathfrak{Y}} x &= \sum_{k=\mathfrak{I}, \mathfrak{Y}, \mathfrak{F}, \dots}^{\infty} \frac{\mathfrak{F} (\mathfrak{I} - \cos k\pi)}{k\pi (\mathfrak{F} - k^{\mathfrak{Y}})} \sin kx \\ (b) \quad \cos^{\mathfrak{Y}} x &= \sum_{k=\mathfrak{I}, \mathfrak{Y}, \mathfrak{F}, \dots}^{\infty} \frac{\mathfrak{Y}}{k\pi} \left(\frac{\mathfrak{I} - k^{\mathfrak{Y}}}{\mathfrak{F} - k^{\mathfrak{Y}}} \right) (\mathfrak{I} - \cos k\pi) \sin kx \\ (b) \quad \sin x \cos x &= \sum_{k=\mathfrak{I}, \mathfrak{Y}, \mathfrak{F}, \dots}^{\infty} \frac{\mathfrak{Y}}{\pi} \left(\frac{\mathfrak{I} - \cos k\pi}{\mathfrak{F} - k^{\mathfrak{Y}}} \right) \cos kx \end{aligned}$$

$$(a) \quad \frac{x^{\mathfrak{Y}}}{\mathfrak{F}} = \frac{\pi^{\mathfrak{Y}}}{\mathfrak{Y}\mathfrak{Y}} - \sum_{k=\mathfrak{Y}}^{\infty} \frac{(-\mathfrak{Y})^{k+\mathfrak{Y}}}{k^{\mathfrak{Y}}} \cos kx$$

$$(c) \quad \int_{\cdot}^{\infty} \ln \left(\mathfrak{Y} \cos \frac{x}{\mathfrak{Y}} \right) x = \sum_{k=\mathfrak{Y}}^{\infty} (-\mathfrak{Y})^{k+\mathfrak{Y}} \frac{\sin kx}{k^{\mathfrak{Y}}}$$

$$(e) \quad \frac{\pi}{\mathfrak{Y}} - \frac{\mathfrak{F}}{\pi} \sum_{k=\mathfrak{Y}}^{\infty} \frac{\cos(\mathfrak{Y}k - \mathfrak{Y})x}{(\mathfrak{Y}k - \mathfrak{Y})^{\mathfrak{Y}}} = \begin{cases} -x & -\pi < x < \cdot \\ x & \cdot < x < \pi \end{cases}$$

$$(a) \quad f(x, y) = \frac{1}{\pi} \sum_{m=1, 3, \dots}^{\infty} \sum_{n=1, 3, \dots}^{\infty} \left(\frac{1}{mn} \right) \sin mx \sin ny$$

$$(c) \quad f(x, y) = \frac{\pi}{4} + \frac{1}{2} \sum_{m=1}^{\infty} \frac{1}{m} \pi \frac{(-1)^m}{m} \cos mx + \frac{1}{2} \sum_{n=1}^{\infty} \frac{1}{n} \pi \frac{(-1)^n}{n} \cos ny \\ + \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{1}{mn} \frac{(-1)^{m+n}}{mn} \cos mx \cos ny$$

$$(e) \quad f(x, y) = \sum_{m=1}^{\infty} \frac{(-1)^{m+1}}{m} \sin mx \sin y$$

$$(g) \quad f(x, y) = \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} d_{mn} \sin \left(\frac{m\pi x}{1} \right) \sin \left(\frac{n\pi y}{2} \right)$$

$$d_{mn} = \frac{1}{\sqrt{2}} \int_0^1 \int_0^1 xy \sin(m\pi x) \sin \left(\frac{n\pi y}{2} \right) xy \quad 45$$

$$= \frac{1}{2} \int_0^1 \left[\frac{\sin \frac{m\pi x}{2}}{m\pi} - \frac{x \cos \frac{m\pi x}{2}}{m\pi} \right] y \sin \left(\frac{n\pi y}{2} \right) y$$

$$= \frac{-(-1)^m}{m\pi} \int_0^1 y \sin \left(\frac{n\pi y}{2} \right) y = \frac{-(-1)^m}{m\pi} \left(\frac{-(-1)^n}{n\pi} \right)$$

$$= \frac{1(-1)^{m+n}}{\pi^2 mn}$$

$$(h) \quad f(x, y) = \left(\frac{1}{\pi} \right) \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} [(2m-1)(2n-1)]^{-1} \sin \left[\frac{(2m-1)\pi x}{a} \right] \\ \times \sin \left[\frac{(2n-1)\pi y}{a} \right]$$

$$(i) \quad f(x, y) = \left(\frac{\sin \pi}{\pi} \right) \sum_{m=1}^{\infty} \frac{(-1)^{m+1}}{m} \sin m\pi x \\ + \left(\frac{1 \sin \pi}{\pi} \right) \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \left[\frac{(-1)^{m+n+1}}{m(1-\pi^2 n^2)} \right] \sin(m\pi x) \cos \left(\frac{n\pi y}{2} \right)$$

$$(j) \quad f(x, y) = \frac{1}{2} \pi \sum_{m=1}^{\infty} \frac{(-1)^{m+1}}{m} \sin mx + \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{1(-1)^{m+n+1}}{mn^2} \sin mx \sin ny$$

$$(k) \quad f(x, y) = \frac{\pi}{4} + \left(\frac{1}{2} \right) \left[\sum_{m=1}^{\infty} \frac{(-1)^m}{m} \cos mx + \sum_{n=1}^{\infty} \frac{(-1)^n}{n} \cos ny \right] \\ + \frac{1}{2} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{(-1)^{m+n}}{mn} \cos mx \cos ny$$

-۲۰

$$(a) \quad b_{\mathfrak{r}_n} = \mathfrak{o}, \quad b_{\mathfrak{r}_{n+\mathfrak{I}}} = \frac{\mathfrak{A}}{\pi(\mathfrak{r}_n + \mathfrak{I})^{\mathfrak{r}}}$$

$$f(x) = x(\pi - x) = \frac{\mathfrak{A}}{\pi} \left(\frac{\sin x}{\mathfrak{I}^{\mathfrak{r}}} + \frac{\sin \mathfrak{r}x}{\mathfrak{r}^{\mathfrak{r}}} + \frac{\sin \mathfrak{S}x}{\mathfrak{S}^{\mathfrak{r}}} + \dots \right)$$

(b) $x = \frac{\pi}{\mathfrak{r}}$ و $x = \frac{\pi}{\mathfrak{f}}$ جهت یافتن مجموع سری ها قرار دهید

-۲۱

$$(a) \quad b_n = \frac{\mathfrak{r}}{\pi} \int_0^\pi f(x) \sin nxx = \left(\frac{\mathfrak{A}}{n^{\mathfrak{r}}\pi^{\mathfrak{r}}} \right) \sin \left(\frac{n\pi}{\mathfrak{r}} \right), \quad n = \mathfrak{o}, \mathfrak{I}, \mathfrak{r}, \dots$$

$$b_{\mathfrak{r}_n} = \mathfrak{o}, \quad b_n = \frac{\mathfrak{A}(-\mathfrak{I})^n}{\pi^{\mathfrak{r}}(\mathfrak{r}_n + \mathfrak{I})^{\mathfrak{r}}}$$

(b) $x = \frac{\pi}{\mathfrak{r}}$ قرار دهید

$$\begin{aligned}
 (a) \quad f(x) &= \sum_{n=1}^{\infty} b_n \sin \left(\frac{n\pi x}{a} \right), \\
 b_n &= \frac{1}{a} \int_0^a \sin \left(\frac{n\pi x}{a} \right) x = \frac{1}{n\pi} (1 - \cos n\pi) \\
 &= \frac{1}{n\pi} [1 - (-1)^n] = \begin{cases} \frac{2}{n\pi} & \text{زوج } n \\ 0 & \text{فرد } n \end{cases} \\
 f(x) &\sim \frac{1}{\pi} \left[\sin \left(\frac{\pi x}{a} \right) + \frac{1}{3} \sin \left(\frac{3\pi x}{a} \right) + \frac{1}{5} \sin \left(\frac{5\pi x}{a} \right) + \dots \right] \\
 f(x) &\sim \frac{1}{2} a + \sum_{n=1}^{\infty} a_n \cos \left(\frac{n\pi x}{a} \right), \quad a_0 = 1 \\
 a_n &= \frac{1}{n\pi} (\sin n\pi - 0) = 0, \quad n \neq 0 \\
 1 &= \frac{1}{2} + 0 \cdot \cos \left(\frac{n\pi}{a} \right) + 0 \cdot \cos \left(\frac{2n\pi}{a} \right) + \dots \\
 (b) \quad f(x) &= \sum_{n=1}^{\infty} (-1)^{n+1} \frac{1}{n\pi} \sin \left(\frac{n\pi x}{a} \right) \\
 f(x) &\sim \frac{1}{2} a + \sum_{n=1}^{\infty} a_n \cos \left(\frac{n\pi x}{a} \right) \quad a_0 = \frac{1}{a} \int_0^a x x = a \\
 a_n &= \frac{1}{a} \int_0^a x \cos \left(\frac{n\pi x}{a} \right) x = \frac{1}{n^2 \pi^2} ((-1)^n - 1) \\
 &= \begin{cases} 0 & \text{زوج } n \\ -\frac{2}{n^2 \pi^2} & \text{فرد } n \end{cases}
 \end{aligned}$$

$$\begin{aligned}
 (a) \quad a_0 &= \frac{1}{a} \int_{-a}^a x x = 0 \\
 a_n &= \frac{1}{a} \int_{-a}^a x \cos\left(\frac{n\pi x}{a}\right) x = \left[\frac{x}{n\pi} \sin\left(\frac{n\pi x}{a}\right) + \frac{a}{n^2 \pi^2} \cos\left(\frac{n\pi x}{a}\right) \right]_{-a}^a \\
 &= \frac{a}{n^2 \pi^2} (\cos n\pi - \cos(-n\pi)) = 0 \\
 b_n &= \frac{1}{a} \int_{-a}^a x \sin\left(\frac{n\pi x}{a}\right) x \\
 &= \left[\frac{-x}{n\pi} \cos\left(\frac{n\pi x}{a}\right) + \frac{a}{n^2 \pi^2} \sin\left(\frac{n\pi x}{a}\right) \right]_{-a}^a \\
 &= \frac{-a}{n\pi} \cos n\pi + \frac{-a}{n\pi} \cos(-n\pi) = (-1)^{n+1} \left(\frac{2a}{n\pi} \right) \\
 (c) \quad a_0 &= \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) x = \frac{1}{\pi} \int_{-\pi}^{\pi} x = 0 \\
 a_n &= \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos n x x = \frac{1}{\pi} \int_{-\pi}^{\pi} \cos n x x = 0, \quad \text{برای هر } n \\
 b_n &= \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin n x x = \frac{1}{\pi} \int_{-\pi}^{\pi} \sin n x x \\
 &= \frac{1}{n\pi} [-1 + (-1)^n] = \begin{cases} 0 & \text{زوج } n \\ -\frac{2}{n\pi} & \text{فرد } n \end{cases} \\
 f(x) &= \frac{1}{2} - \frac{1}{\pi} \sum_{k=1}^{\infty} \frac{\sin((2k-1)x)}{2k-1}
 \end{aligned}$$